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Assistant Central Intelligence Officers

Grade - 11(Exe) Examination

Held on 15-09-2013

(5

: Jotal duration of written oxamination : 1 hour 40 minutes
The written examination conlains two papers namely Paper-l (Objeclive type) and Paper-ll (Descriplive
type to be atltempled in English language enly). The tolal duration for bolh the papers is 1 houwr and 40
minutes {i.e. from 1020 hrs 101200 hrs).

2. Ench question in Paper-1 is followed by four allemnatives, namaely-{) (i) (i) and (iv). Only ong allemativo (s
the correct answer which should be complelely darkened by Blue ink on the OMR Rosponse Shoot
provided scparataly.

3. The last 11 questions are related (o test of English language, so there is no Hindi iranslation for them,

PAPER-| TOTAL MAKES FORFAPER ; 100

1. If increasing 20 by P percenlage gives the same resull as decreasing 60 by F_percenlage, what is P
percentage of TO7? {1y 50 {ii) 140 (i) 14 (Y 35

2. If the Republic Day of India in 1980 falls on Saturday, X was borm on March 3,1980 and ¥ is older to X by
four days, then ¥'s birthday fell on (i) Thursday (i) Friday (i) Wednesday . (iv) None of these

3. Find the missing number in the following series 4, 18, --, 100, 180, 294, () 32 (H 36 (i) 48 (iv) 40

4, There are six tasks and six persons. Task 1 cannot be assigned to either person 1 or 2; task 2 must be
assigned lo either parson 3 or parson 4. Every person has to be assigned a lask. In how many ways can
the assignment be dona? {i) 144 {iiy 180 {iin 192 {iv) 360

5. A number when divided by a divisor leaves a remainder of 24 When twice the original number is divided
by the same divisor, the remainder is 11, What is the value of the divigar? () 13 (i) 59 ()35 (iv) 37

G, In how many ways can 15 people be seated around two round tables with sealing capacities of ¥ and 8
peopla? {iy 1817{81 (iiy Fi=a! (iliy (1SCBY"6I*TI (iv) 15C8*8!

7. What is the sum of all positive integers lying between 200 and 400 1hat are mulliples of 77

{y 8729 {1y 8700 (i) B428 {iv] 8278

8. The difference between the ages of two brothers is a primé number. Sum of their ages is also a prime
number, If the elder brother is 28 years old, how many different values can the age of the younger brother
lake? (i 2 {iiy 3 ity 4 {iv) 1

9. Find the least five digit numbear which on divided by 12, 18. 21 and 28 leaves the same remainder.

(y 11019 {ii) 10081 (i 10059 " fiwy 10289

10. In what ratio should a 20% maeathyl alcohol solution ba mixed with a 50% methyl alcohol solution so that

the resultant solution has 40% meathyl alcobol imit? (i) 1:2 (iy 2 : 1 (i) 1 :3 (ivy 2:3

11. A train covers certain distance bebween two places a1 a uniform speed. If the train moved 10 kmvhr faster,

it would take 2 hours leas. And, if the train wore slower by 10 kmvhr, it would take 3 hours more than the
scheduled time. Find the distance covered by the rain.
(i) 300 kms {ii) 600 kms (i) 800 kms () *1200 kms

12, In  how many ways can the lettérs of the word ASSASSINATION be aranged so that all the S5 are

logether? M 101 (i) 1 ai(aly iy 1.51,200 {iv) 36,28,800

13. In a lottery 10.000, tickels are sold and ten prizes are awarded. VWhat is the probability of nol getting a

prize if you buy one ticket 7 (1) 9/10,000 (ii) 9110 (iii) 999/1000 {iv)* 8999/10.000

14. Rajnikanth left his home for office in car. He drove 15 kms straight towards norih and then tumed eoast-

wards and covered 8 kms. He then wmed to'left and covered 1 km. He again turned left and drove for 20
kms and reached office. How far and in whal direction is his office from the homeae? ()21 kms west
(I15 kms north aast (i) 20 kms north west (v} 26 kms north wasl

15. There are five diferent houses, A0 E, in a row. A is to the righl of B and E is o the left of C and right of

A, B is to the right of D. Which of the houses is in the middie? (i) “A (i) B (i C {ivy D

16. A's mother is sister of. B and daughter of C. D is the daughter of B and sister of E, How is C related 1o

E? iy Sister (i) Mother {ili) Father {iv)« Grandmother or Grandfather

17. ACEG : DFHJ: : QSUW: 7 (i) TVNZ (i) TWZX (ili)r TVXZ {iv) XVTZ
18. Which number should réplace the question mark in the following table?

17 B 4 5
13 i 5
& 12 [+
101 & 4

o | et |

i 4 (i) 5 (). & vy 7

19. The day bafore the day before yesterday is three days after Saturday. What day Is it today?

(i)* Tuesday (i) Wednesday (iliy Thursday {iv) Friday

20. 165135 is 1o peace as 1215225 is to (i) lead (i love (ily loop (iv), aura
21. Washing soda is the common name for

(i)» Sodium carbonate  (ii) Calcium bicarbonate {iii} Sodium bicarbonate (iv) Calcium carbonale

22, Which of the gas is not known as greenhouse gas? (i) Methane {ii) Carbon dioxide

{lii) Mitrous oxide (v} Hydrogen

23. Which of the following is not used as a moderator in nuclear reaclor?

(i} graphite (i} heavy water (iify light water {iv): boron

24, In 1945, an Allied Conference decided the partiion of Germany in four occupation zones. Whera was that

Conference held? (i} MNoscow (i} Casablanca (illy Yalta {iw} Paris

25. In which period were the Crusades conducted by Eurcpean Christians for liberation of Jerusalem from

Seljuk Turks 7 (i) 1080 -1100 (i) 1088 -1270 (i) 1098 -1354 {ivy 1270 -1300
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26. On which dates did the US drop atom bombs on Hiroshima and Nagasaki respectively 7
Ai) Aug 6,1945 & Aug 9,1945 (i) Aug 6, 1945 & Sepl 12,1945
(iii) Aug 5,1946 & Aug 8,1946. (iv) Aug 9, 1946 & Aug 12 1946

27. Who drafied the Declaration of American Independence?

(i} George Washinglon (ii) Abraham Lincoln (iii) Thomas Jefferson (iv)John F Kennedy

28. Between which European Powers was the Crimean War mainly fought?

{i}=The Russians, Brilish and French against the Ottomans (ii) The Brilish and French agains! lhe
Otlomans (iii) The Otlomans, British and French against the Russians (iv) The Russians againsl the
Crimean Tartars _

29. Which of the following European powers seized termritories of Llhe Ottoman Empire in the early decades of
the 18th cenlury? (i}* Austria-Hungary (ii) Britain (iii)) Russia {iv) France

30. The rapid colonization.of Africa by the European powers afler 1880 was moltivated primarily by
(i) the demand for slaves lo cultivate New World cotton and sugar (ii) the desire for new markets, raw
materials and stralegic advantage (jii) the need to tap the hydroelectric potential of the Adrican rivers (iv)
the heavy demand for African workers in European faclories

31. The Silk Routes were important in ancient times because they (i) facilitated the exchange of goods and
ideas between China and the Roman Empire (iijallowed gold and silver mined in China 1o be traded for
European furs and wool cloth (i) provided a conduil for trade in silk, porcelain and coslly gems between
China and Japan (iv) provided trade links between the people of Sibena and the people living on islands
in the Bering Sea.

32. When the Portuguese sailed around the Cape of Good Hope and enlered [he Indian Ocean in the lale
fifteenth century, they found (i) a region defended and patrolled by fleels of the Chinese navy (ii) a region
where sea trade had nol yet developed (i) numerous porls under the conirol of merchants from Genoa
(iv) a network of long distance trade routes dominated by Muslim merchants.

33. The cradle of the Sumerian civilisation was the delta of Euphrates and Tigns rivers. In what modem day
nation is this located? (i) ~Egypt (ii) Turkey {iii) Irag (iv) Greece

34. Which was the last dynasty that ruled China and in which year was the Republic of China established?
(i) Qing dynasty, 1911 (i) Ming dynasty, 1949 (iii) Yuan dynasty, 1939 (iv) Liao dynasty, 1935 .

35. The landmass of which of the following continents is the leas!?

(i) Europe (i) Africa (iii) sAustralia () South Amernica

36. Which of the fellowing is tropical grassland? (i) Taiga (il) Savannah

(iii) .-Pampas (i) Praines

37. The headquarters of the Commonwealth of Indepandent States (CIS). formed out of erstwhile USSR,

is at (i) Kistiner in Maldovia (%) Kiev in Ukraine
(iliY Moscow in Russia (iv) Minsk in Byelorussia

38. Which is an accurate statement about Japan's natural resources?

(i) Japan has extensively used the seas for fishing (ii) large reserves of petroleum are localed
in the northem part of Japan (iii) Japan has large fertile plains suilable for growing grain
(ivilarge coal and iron-ore deposits are lacaled in the mountain region

39. Which of the following Seas has highesi salinity in the world? (i) Mediterranean Sea (i) Black Sea

(iiiyDead Sea (iv) Red Sea

40. A large increase in oil prices, such as the ones occurring in 1973 and 1979, will cause (i) inflation and
expansion (i) recession and disinflation  (jiiyinflalion and recession () expansion and deflalion

41. The law of demand slales that: (i) as the demand rises, the price rises (ii) as the price rises, the
demand rises (iii) as the pricerises, the demand falls {iv) as supply rises, the demand rises

42. Which of the following groups is most hurt by unexpecled inflation? - (i) homeowners (ii) - people
with large debls to pay for their hemes and cars (iii) people with large retirement savings held in
savings accounts (iv) workers wilh cost of living adjustments in their labour contracts

43. Which of the following is NOT an issue in macroeconomics? (i) issues relaling to the balance of
payment (i) the determination of prices in the agricultural sector (i)~ the relationship between
:nﬂ-atiun and unemployment (iv) the possible effect of budget deficit increases on the level of
nvestment

44. People belonging lo which age group are eligible for training under TRYSEM scheme?

(i) 18-38yrs " (n) 25—40yrs (i) 25—50yrs (wv) ~ 18—25yrs
45. Which of lhe following is the largest source of Tax Revenue in the India’s budget for 2013 -147

(i) Incoma Tax (ii) Corporate Tax (iii) Servic® Tax (ivyExcise Duties
46. Which of ihe following is closest lo India's current GDP (2012-13)7

(i) $ 800 billion (i) $1.2 trillion {iiiy $1.8 trillion (iv) $3 trillion
47. What is the current share of Crude and Petroleum products in lotal Imporis of India at present 7.

(i)~ ‘above 70% (i) 52 — 56% (i) 6 - 21% (iv) 27 - 33%

48, Which one of the following. pairs of kings of andenl and medieval periods of history and the works
authored by them is correctly matched? (i) Krishnadevaraya- Samaranganasutradhra
(iy Mahendravarman - Mattavilasaprahasana (i) Bhojadeva - Manasollasa
(iv) Someswara - Amuklamalyada
49. Ashokan inscriptions veere first deciphered by (i) James Prinsep {ii) Buhler
(i) Robert Sewell {iv) Codrington
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S1. 7w dhg o o e w5 flm ogm gfvedt dew owm @ 7

(i) i 9w favry e i) e (i) T-Tamat S gen (v)  wW gEW
52. waed 4 ' ofirmfrs v 2w e @t et ?

0 dite ¥ (i) w2 Rftrs A (i) < Y Y (iv) & &t At
53. afirell gFaw & IR Frefaiam sefwdl & wfta 81 & o9 4 dafm sifag )

A, = g B, fie anfter= T C. g0 wEeEltar D . midtgefim gzl

(h BACD i BADC () DCAB (ivi DCBA

54 . WA wEEwal €O F wee, wel ware 5 wmen fEes g @l e o 7
() e gigdn (i  Tiore o TEEa () doy oy BT (lv)  SEEsm A9
ss.PfRdd s imsla s e oatad ?
tilﬁwnﬁmﬂmﬂmmﬁmﬁﬁmaﬁ?ﬁﬁﬁﬁﬁm [llt‘;ﬁaagﬁ?maﬂ?wm
(iv) T g ofir T A=
56, fbm aEawm e ifawm & meaee A wdle wafie, guea ofw Terms wdet St widt Sf e
(i) = Fe {ily =2 37h= (iii) = Fret (iv) = Sererd
57. 1843 aftr 1841 ¥ ZivF fvm S0 e & Fesma, adfewn= ofiy fem & oo oarm & &S afimm &
wrmeTE g e e 7 () dew fie () o B () e ol (iv) wivee e
58. 1623 ¥ =l =} =i fierds dtw oft g ot 7 .
(i) F gfym &vd st sremfram froma (i) $v= fm St &N P s
(i) wven afty bR (iv) frm smars afte yewrsn Ramer
59, 9 ¥n & fFw ow 4 IR 9RA $t Ak T T aw wen o uww s @ e B ?
() Frarem (i) b 1 {ii) =T = (i) . T e
0. Mg frndeipmge dfrfem et o o e 7
i =, 1792 (i <, 1799 iy +er, 1799 {iv) =¥, 1805 a
81, 9= =g ¥ He =mandt &t P o e
(i) e, W ¥ eg St | e feet $ o= [y St e 3% or =mnie SR Teeae 9
framt ol F a= (i) Trzaty o5t RrenRw = wwogra, e <aamfte A Bear s & e
(iv) Trgafar, Tl & oeaare N S=aem e F @ age ofte ol | Pew B & e
62. 118 duwdfa groew & sfeafm, iR e & ogivg Pre < o om =t & 7 () i & +ft
(B) Yrorme & e | gl () geft e e {iv) Tom amg=ren & @it
63. WETE U o A Eewy abrerng e ad femommoen? (i) 19668 (i) 1969 {il) 1970 (lv) 1871
84 . ArET BTA Wit == B F wav v & g fee B9 afar o FPofg =t o6 oy 9 e olfta

AT e ? i 10 f= iy 1afe=m iy sv=mwE (v R

66. Teuf A aewi st oo A Elg s wwma £ 7 () 12 () 16 (H) 16 fiv) 18
66 Pre=r § & firw vrog | fgoemorw Beermn 27 ) &= () =2 w2 () s (iv) o afi i
67 . gl w3 wEtEn el amis frm e @7 (i) S (i) TR

(i) dwig F 2= vl # @ v e {iv) ST W B A

68, wRa =1 wEtew AMRE T CuRa T # wen e o F gt ot afv o v et ofes e weiR
fresngh g ? (i) 1952, &7 (i) 1954, 41 (i) 1969 , 45 fiv) 1972, #1

89, wrm green & aldfa Rf gt & srvr =ftvdl @t 0w fiddm of 4 @9 @ o fre B 5 e =grm

ol B WA AT Tl O &9 w22 () 120 2 (i) 1o0 B (Wi 80 fam (v) BO RBm
70. fr=a A 4 s wgE & wft W AR § 7

(i) T, R, BT (ify @, T, Trfl (i =, el A (v) =R, I, e
71 wrea # wreras e aring W o gan i :
() 23maR 1950 (i) 2 3mgaw 1951 () 2aeeAm 1952 (iv) 2 =AY 1954

72 . WAk, WeeTw [ g & g awges &7 () o g () Fer wmg 00y ot g (v) w SR
- 73, Py # @ faew oyp @ mifeTe W e wad ofts wen & () SRR (i) R G @ (iv) Rowms
74 . sifreem dma Y %) v e & e, Rl wdew ot v v =1 o wiw g e ?

(il 45 i {ip 60 fah (iy  so il (v} 30 fad
75, ‘A e 567 w1 &0 sfers w7
{1y 1010111001 {#) 1000110001 {11)) 1000011101 {iv) 1000110111
76. TfE T ETN | BHIT @ Ten =ihn B e SeEE F oo o 2 gt 3 ol vt e g Al
waE S efFa dnmm @m ? () 120 Reh sl a= _ (i) 160R%R wfy der
(i} 200 fdt iy ae fiv) 240 @ #fa =

¥7 . fiFa 2 A el v wiEA, e ad e o geoetEe e @ Pemrelt & et s & Rreeeh
wt e fvar &, o sl st TR et () TR ) gsewm (i) R (iv) '
78w o ww O od sfgen afdia faerdt 2 = 2013 4 anie et o e o TR Teel R
wher ot o sfverm v B 7 (1) e et () Wei ameR () awsiew R (lv) sosslt oe
79. P 9 i w3 gl wEed e ol @ 7
() and v v wwr (i) 3nE o= oo wléa (i ard o = wre (iv) = g g fhgde
B0, P ¥ @ fw 2w w1 o B & Svm e oft 2== 7 ) B () @R il egeiftmn (v sifian
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81. t& FwgeY % (CPU) 3 ¥ & :._ (i) ¥ie. mmmul}ﬁdﬁwqﬁm e wuew i fidflos
e (i) Prd=er gfre, mtimmhqﬁz 7o HuEs (lv) T @ o Tl
82. vm Fhard ¥ ¢F it # Tamm W &9 aegEn g o few (bits) d == & fa few e = wm

e e & ? (i) ANSI () Ascll (i) EBCDIC (iv) I1SO
83. W a R it vanfee *marey devme’, @& e Wl devme R dnd Ra e 7.
(i) et (i ofewm= - (i) At (iv) =R

84. ¥ @ ¥ wadl ¥ amv ww wErl fvw 2w & S wgafa # ? (1) s (1) SifEn () Y= (iv) B
85. =re1 W 3R AR oW ¥ W ey e TR preeme 3 e A oF T TRads WY e 9
WMo R ? (i WewrR (i) TR e () waw ofmm (iv) Preii i
86. 2012 ¥ wde qwer ¥ R wenfa fsgr T ar ?
() sSrex oght wam (Sp) () wRenwa (sfn) () sfeme e (fER) Hv]-arl!'-."ﬂ'rlﬂ (&)
87. 201213 & anflis wd & arww, Pt ofir whiftm wrdwam &1 wow e, vome A fve whwa dree g 7

(i 13% (i 14.1% (i 15.2% nél.}, 16.3%
88. fang Fafiten Raaft 2013, R © N 3y 3 whea s Har a1, F3t smakE 2
() oeml, g9 () e () - ==, dw (v) S, ande
89. fise ‘um firsan s’ frean fae = oo afts fses afivila fisar 27 :
() wqu : () ferdsftdt (i anfiw | {iv) HIEH WG
« 90. Choose the comect sentence among the following. X
(i) The danger will continue ils growth. {ii) Thedanger will continue to grow.
(ili} The danger will continue its growing (iv) The danger will continue growth’
91. Complete the following sentence, This is the best book — (i) of all others on History
(i) qf any other on History * (iii) of all on History (iv) of any other in History

92, Choose the answer that Is closest In meaning to the following EBHTEI‘IEE
Yeuk Yee had her house painted white yesterday. .
(i) She had to paint her house white yesterday. (i) Her house was not bluelast week.
(iif) They painted her house white for her yesterday. - {iv) She painted her house :.resierda;r
93. Choose the idiom from the following options which-means * to be modest about one’s achleve-
ments®. (i) to-hide one's light under a bushel (il) to take to the bush
(ili) to hide behind the bush {iv) to beat about the bush
84. Choose the correct sentence among the following, : _
(i) | have one chance in a thousand of winning tonight (i) | have one chance in a thousand for
winning tonight (ili) | have one in a thousand chances to win tonight (iv) | have one chance in
a thousand that | will win tonight.
95. Choose the idiom from the options, which means 'a lot of excitement and discussion about a trivial
matter'. {iy A cyclonein the cup (ity A flood in the tea-cup
(i) A storm inthe tea-cup (iv) A flood of air
96. Docllity Is to surrender as unrest s to

(i) education (i) rebelllan (iliy iness (iv) hospital
97. Mitigate is to punishment as alleviateis to .
(i) promotion (if) change (iily order . (iv) paln
98. "What is bred in the bone will come out in the flesh®. Choose the meaning that is closest in the
meaning to this proverb

"{i) Pedigree racing horse will always win (i) Inherited characteristics cannot be concealed
) Gnud diet |rl; childhood makes for good health in adulthood (iv) Brain washing can change the
personality.

99. Choose the palr which represents closest the relationship expressed in the original pair in capital
letters.
MENDACITY - HONESTY, (i) Truth : Beauty (i) Sportsmanship : Fortitude

(il Courageous: Craven (iv) Turpitude : Depravity

100. Choose the set of words that when inserted in the sentence, best fits the meaning of the sentence
as a whale, Unable to —— his wholehearted distaste for media events and publicity, the miffed
minister continued to make — comments throughout his speech. (i) conceal ; effusive (i)
control ; garbled (iii) disguise; caustic (iv) express ; vitriolic .

we 2 (3R ) : o qut® - 50

Wirite an essay in English language only on any one of the fnlln-.mng topics in not more than 400 words.
(i) A Communal Conflict Scenario (i) Causes of Violence in the World
{ili} Divide Between 'India’ and 'Bharat’ {iv) Dimensions of Rural Employment

‘-J.
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: g wafa s 1 ud

1 fafa ohan & @) gvAew @ ) wvEea -1 ( aefive ) ofw wraem -2 (S st ww & avrers ) &) @
sl & fog e wra amfa o de 40 Bz # (w9 10 20 A FMRT 12,00 ™ %) \

2 raTs -1 ¥ Wl wra & e fawe (i) (i) Gi) 3 Gv) Be g €)1 S o Press ol &, Pl e gfere @
et vt @ g s wen ) owe gfeEE aEm @ Suam s e |

ddfmni Aty madifmE Ive i aqre afi fm o v &

20 ¥ P sfirm w9 v sy 60 w P Rt werd v vw @ oftvm Rrem & W 70 = posfvm

? ih 50 (i) 140 (iii) 14 {iv) 35

e 1 ores faam ad 1980 & vfa & fm oy f . oI =1 o= 3 W 1980 =) g2 o 3w A

wen ® ue 29w @ o and @ ot odm o () qEefiET (i) YEAIR (i) TR (iv) B W g

3 Prefafas sw & asa dam = 9on =d 7 4, 18, -, 100,180, 294, (1) 32 (i) 36 (iliy 48 (iv) 40

4 By o mfis & s w7 oF oA s g @fs @ = B oo wem # T

W e m o mfis B A fra on wew & W fRed oEw @ or o fem o ween & 7 v
frmm o afard & 1 () 144 (i) 180 (iiy 192 {ix} - 360 -

fnmors @ Benfem B orm & @ Posa 24 dren & afir oft e Yen & TR o= B el

frarers 4 Fnnfora fsm e @ @ YA 11 g & 1 o &1 e w0 R 2 (113 (1) 59 (ili) 35 (iv) 37

cismfsA Mt rfldfstNom7iremfs g, Ffofimse A s v £ 7

(i) 1sy{en @y 7ral [y (1sce)*erv! {iv} 15CcB*3]

7 200 ofk 400 % wexr oF et wf qot Wemedl |, S s 7 & qors w1, = W ow e

)] B729 (i) 8700 iy B428 (iv) 8278

8 2 wigg 2 g T st Um w7 dom 4 1w T 9 o o a0 WS dem & | of w w28 o

st amaa el ag @A wTEm e P @ 2 6RO 4 (v 1

9 ghw alsi o) wad 91 Wom wm 2 B 12, 18, 21 MR 28 MM FE AR W Ovsa Ew k7

(i) 1o1e (i) 10081 (iif) 10059 {iv) 10289

10 fEm agoe 4 20% Proga seslEs W 50% Prage s @ Pramm o 5 oRerrasy fisor 4 40%

g sewEA W 7 ) 1 206 2:1 Uy " w:8 (iv) 2:3

MNesdaNamisfod®t oft or w9 nft & ag =2 1 oft 33 10 fimfy o2 3 e 4 A=

wadt & &t & 2§ T af afy ofr or #4910 Rfal 2 R e @ el weefl & oY o o BT

wag 9 d v wfis @il o9 waEt & deog@ W am Ty ?

LLGLE R T goies . : 100
1
2

() 300 Rt (i) 600 faf fy - Boo Bl (iv) 1200 faeh _
12 ASSASSINATION TE S i st rrfioes oot oy ol saR cs T W 7
(i 10! (i) 14Y(41) {li) 1,51, 200 {iw) 36. 28, 800

13. ve are® 4 10000 oz ¥ s 10w [@u m | oft 3 o @ feee afier & o ameds = =
otem 25 e e & 7 (i) 910,000 Lii) 9710 () 99971000 (iv) 9999/10.000

14 vorftsig oy @ offerw % fiae ol = A Bream 2 1 3w 15 fef @ eer 9 o mdfl v @ e gd St
sire g & ofiv 8 Rl orm & L awd o e ad g & AR o RER o @ ) o S ard e @ afe
20 fissdft wraft sramm aitfew trloar mATas arg el gl i fem s fm e 7

iy 21 B ofws (i 15 v ¥ (i) 20 R Swv ofves {iv) 26 et oo e

15, s RAEamE Y AREm duaaraan o § 1A 8t od i kAR B C% ard aiiw v A & 2 2
tippFed it g dT A wommaAR I() A ()8 (iiiy < {iv) D

. AAFERMamaiRCcCH @At IDIFAEE M tES I ICmEAmnwdul

() T&A (i G| @y P (iv) == @ Al
17. ACEG : DFHJ: ;QSUW+7 () TVNZ (Il) TVZX (i) TVXZ  (Iv) xXVTZ
18 . Prsfafan mfas & g fiee ) 9o o' w1 ofw sgm 7
1I7] 8 |15
13 7 5 1'4
6 j121 613 () 4 () 5 (i) & (iv) 7
e l4]? :
.o Ao At sl s e daf R ama T At am s Raa e 7
() HeaTe (i) qUAR (il TR (iv) T
20, 185135 ufit peace & @ 1215225 & : (i) lead  (lI) love (i leop (Iv) aura

2%, @H.ad W w o TmEm f 7

iy &femw sEFe () $famm agsEte (1) @f s menike () SR sete

22. frr o A w1 v i wrew o oot & 7 () Beds () wrbs o e s (1) TTEEw amoeTEE (lv) ETEETOE
23. P & A faver waim @ qoa] wdw A ety & e i e g 7

(i) ToEe (i) &4t ae= (i =mfE =y fiv) =
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24, 1Mﬁwﬂgﬁmmmﬂ=ﬁﬁm g A fnofem =9 = Pofo fEm T @ | TE s =9 o
el ? () -= (i) =T ==t (ny ey vy %R=
25. %ﬂwwﬁ#qﬂﬁﬂﬂhﬂﬂmmﬁmtmqmqﬁﬂ wigE @ Tm oW 7
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() 3T 5, 1946 afry apTw1 B, 1946 (lv) et 9, 19486 affy sy 12 | 1946
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The foundalion of modem education syslem in India was laid by (i) The Charter Act of 1813
(ii) Macaulays Minutes of 1835 (iii) Wood's Dispalch of 1854 (iv),Hunter Commission of 1882
Which one of lhe following-represents the fundamental difference between Mahayana Buddhism &
Hinayana Buddhism? (i) Emphasis on non-violence (ii) casleless society

(ili) Weorship of Gods and Geddesses (iviWorship of Stupa
The Asialic Society was established in Calcutta by
(i) VWarren Hastings (i) Sirwilliam Jones  (iii) Raja Ram Mohan Roy (iv) T.B. Macaulay
Arrange the following evenis during British rule in chronological order: A. Dandi March B. Simon

Commission C. Poona Pact D. Gandhi-Irwin Pact (i) BACD (yBADC (i) DCAB  (iv) DCBA
During the Indian freedom siruggle who of the following founded the Prarthana Samaj 7

(i) Atmaram Pandurang (i) Gopal Hari Deshmukh

(iii)'lshwar Chand Vidya Sagar (iv) Keshab Chandra Sen

Who among the following were the leaders of the Indigo Revolt 7

(i) Buddhu Bhagat & Jhindar Monak (i) Digambar Biswas & Bishnucharan Biswas

(1ii) Dinbandhu Mitra & Madhusudan Dutta {iv‘},.Elima Munda & Gaya Munda

. During whose tenure as the Viceroy of India were the great Martyrs Bhagal Singh, Sukhdev and

Rajguru hanged 7

(i) Lord Curzon (i) Lord Irwin {iii) Lord Minto (ivY’ Lord Chelmford

Which Dogra General led successful miltary expedilion to Laddakh, Ballistan and parts of Tibet
between 1834 and 18417 (i) Mehan Singh (i) Gulab Singh (iii) Mehta Basti Ram  (iv) Zorawar
Singh :

. Which sides were the rival fighters in the Batlle of Naushera in 1823 ?

(i¥East India Company & Emirate of Afghanistan (ii) East India Company & Sikh Empire

(iii) Marathas & Durranis {iv) Sikh Empire & Emirale of Afghanistan
Which Cheola King successfully led expedilion lo the north lo caplure temitories up to river Ganges?

(i) Vijayalaya (i) Aditya | (ili)Rajendra Chola | (iv) Rajaraja Chola |

In which Anglo - Mysore war and which year was Tipu Sultan killed-?

(i) Third, 1792 (it) Third, 1799 {iii]anunh. 1799 ; (iv) Fourth, 1805

Chief Justice of a High Court is appointed by:

(i) The Presidenl afler consultation with the Chief Justice of India (CJI). (ii)*The President after
consultation with the CJI & Govemoer of State. (iii) Thé Govemnor on the recommendation of President
who in tum consults the CJL. (iv) The President after consuliation with the Governor of the Stale and a
collegium of two very senior Supreme Court judges headed by CJI.

Inclusive growth as enunciated in the Eleventh Five Year Plan does not include one of the following:

(i) Reduction of poverty (iifExtension of employment opportunities (iii) Strengthening of capital market
(iv) Reduction of gender inequality

. In which year Madras state was renamed as Tamil Nadu? ())M1968 (i) 1969 (i) 1970 (iv) 1971
. A Money Bill passed by Lok Sabha is deemed lo have been passed by Rajya Sabha also if the Upper

House lakes no action within (i) 10 days (i)"14 days (i) 3 weeks (iv) one month

. How many members can be nominated lo Rajya Sabha by the Presidemt? (i)12 (ii) 15 (i) 16 (iv) 18
. Which of the following States has bicameral legislalure? (i) Kerala (ii) Madhya Pradesh

(i) Assam (ivl}-Jammu & Kashmir

. The impeachment of the President can be initiated in

(i) Lok Sabha (ii) Rajya Sabha (iii) either House of Pariament (iv]'Joint Session of both the Houses

. In which year 'Bharat Raina’, India's highest civilian award was established and how many persons

have been honoured wilth this award so far? (i) 1952, 67 T (i) 1954, 41
(iii)) 1969 , 45 {iv)71972, 41
MGMREGA provides legal guarantee for employment at minimum wages to adult members of a
household in a financial year for al least (1) 120 days (iiﬂﬂ-l:l days (i) 90 days (i) 80 days
Miliets are called ‘coarse grains’ and conslitute mainty of (irMaize, Jowar , Pulses
(it} Jowar , Bajra, Ragi (iii) Bajra, Ragi, Paddy {iv) Jowar, Ragi, Groundnut
The Community Development Programme was starled in India on
(iYOct 2,1950 (ii) Oct 2,1951 (iii) Oct 2,1952 (iv) Oct 2, 1954
Sugarcane + Polato is an intercropping system of which season,
(i) autumn season (ii) summer season (i) rainy season (iv) spring season

73. Which of tha following animals has the longest geslation (pregnancy) period?

(i} dolphins (ii)~elephants (iii)) camels (iv) giraffes

74. What should be the angle for throw of any projectile to achieve maxmum vertical range ?

75.
T6.
77.

(i) 45 degree (i) 60 degree (ii1)'90 degree (iv) 30 degree
VWhat will be the expression for 567 in binary system 7 (i) 1010111001 (i) 1000110001

(iiiy 1000011101 (iv), 1000110111
VWhat is the approximate terminal velocity of a skydiver falling freely with parachute in unopened
condition? (i) 120 kms /hr (i) 160 kms/hr (iii) 200 kms/hr (iv) 240 kms/hr
Which country has granted temporary asylum to Edward Joseph Snowden who leaked details of the
US's programme of mass surveillance of electronic data. (iyEcuador (i) Hong Kong

(iii) China (iv) Russia
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78 Which former national level Volleyball player crealed history by becoming the first female amputee 1o
conquer Mount Everestin May 2013, (i» Premlata Agarwal (i} Sanlosh Yadav
(i) Arunima Sinha (v) Bachendri Pal
79 Which of the following is the India’s first indigenous nuclear submarine ?
() INS Chakra (i)* INS Asihant (i}  INS Shalki {iv) INS Sindhuvir
80. Which of the fallowing counlries did not witness change of ils ruler under Arab Spring 7
i) Egypt (ii)* Syria (iiiy Tunisia (iv) Libya
81 The Central Processing Unit {CPU) in a computer consisis ol -
(i) Input, output and processing {iy"Control unit, primary stocrage & secondary slorage

{iii} Control uni, arithmetic-logic unit. primary slorage  (iv) Mone of lhe above
B2 When a key is pressed on the keyboard, which standard is used for converting the keystrokes inio. Lhe

corresponding bits? (i) ANSI (i) < ASCI (i) EBCDIC {iv) IS0
83 “Gwadar Pont" , a deep sea porl developed and operaled by China is localed in which country?
{iy © Sri Lanka (i) Pakislan (ii) Bangladesh (i) Myanmar
B4 Hasan Rouhani was recenlly in news as new president of which country?
(i) Iragq (i) Libya i)Y Iran (iv) Egypt
B5. Which Malaysian budget carrier has planned o launch a new airline in India along with Tata Group and
Telestra Tradeplace? (i} Jet star (ii) Tiger airways (ii)Air Asia - (iv) Nippon Airways
BS. Who was awarded the Jnanpith award for 2012 7 (i) Dr.Ravuri Bharadwaja (Telgu) (i) Pratibha
Ray (Odia) (iii) Shnlal Shukla (Hindi) (iv) Amar Kanl (Hindi)

87 According lo the Economic Survey 2012-13, Agriculture and allied activities, accounted for what
percentage of the Gross Domestic Product? (i) 13% (i) 14.1% _ (i) 15.2% (iv)- 16.3%

88. Where was the World Badminton Championship 2013, in which P V Sindhu won a Bronze medal , held?
(i) Jakarta, Indonesia (i) Singapore (i) Guangzhou, China {iv) Bangkok, Thailand

89 Who has played the lead role of Milkha Singh in the film ‘Bhag Milkha Bhag™?

(i) Dhanush (i) Chiranjeevi (i) Aamirkhan (iv) Farhan Akhtar
80. Choose the commect sentence among the following. .

(i) The danger will conlinue its growth. {i)” The danger will continua 1o grow.

(i) The danger will continue its growing {iv) The danger will continua growth
91. Complete the following sentence, This is the best book — (iyof all others on History

(i) of any other on Hislory (iil) of all on Hislory (iv) of any other in History

92 Choose the answer thal is closes! in meaning to the follovang séntence,
Yeuk Yee had her house painted white yesterday
(i) She had to painl her house while yesterday. {ii) Her house was nol blue last week.
(iii) They painled her house white for her yestarday. (iv}rShe painted her house yeslerday.

93 Choose the idiom from the following options which means " to be modest about one’s achievements”™.
(i) to hide one's light under a bushel (ii) 1o take to the bush -
(iii) to hide behind the bush {iv) 1o beat about the bush

94, Choose the comecl sentence among the fallowing,
(i} | have one chance in a thousand of winning tonighl (i) | have one chance in a thousand for
winning tonight (i}~ | have cne in a thousand chances 1o win tanight {iv)] | have one chance in a
thousand thal | will win tonighl.

95 Choose the idiom from the options, which means ‘a ot of excitement and discussion aboul a trivial
matter. (i) A cyclone inthecup = (i) A flood in the tea-cup

(iii) A storm in the tea-cup  (iv) A Nlood of air
96. Docility is lo surender as unrast is 1o ———.

(i) education (i) ~rebellion (iiif iness (iv) hospilal
97. Mitigale is to punishment as alleviate is 1o ———--,
(1) promaoation {iiyfchange (iii) order {iv) pain

98. "WWhat is bred in the bone will come out in the flesh”. Choose the meaning that is closest in the meaning 1o
this proverhb
(i} Pedigree racing horse will always win {ii) Inherited characteristics cannol be concealed
(i} Good diet in childhood makes for good heallh in adulthood (iv) # Brain washing can change the
personality.

93, Choose the pair which represents closesl the relalionship expressed in the onginal pair in capilal letlers.
MENDACITY : HONESTY, (i) Truth . Beauty (i) Sportsmanship : Fortitude

(Y Courageous: Craven {(iv) Turpitude : Depravity

100. Choose the sel of words thal when inserned in the senlence, besl fits the meaning of the sentence as a
whole, Unable to —— his wholehearted distaste for media events and publicity, the miffed minister
continued to make comments throughoul his speech. (i) conceal ; effusive (i) control ; garbled
jin}. disguise; caustic (ivY express ; vitniolic

PAFER- (English languaga) Maximum Mark - 50
Wnie an essay in English language only on any one of the fellewing lopics in not more than 400 words.
i) A Communal Conflict Scenario {ii) Causes of Violence in the World

{ii) Dwide Belween ‘India’ and "Bharat’ {iv) Dimensions of Rural Employment



